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Answer all the questions on this paper itself,

l) Fillin the blanks with the sim Ple past or present perfect tense form of the words in
the brackets.

T (live) in this town for more than 30 years. In

lie beginning, it 2 ... (be) a peaceful place to live in with

s of greenery. Later, however, it R (change)

) into the hillsides, S ... ... (widen) roads and ¢

(build) hotels and office complexes. Since then, the traffic

mssing through the town 7 ... (increase) greatly and multi-
sorey shopping malls & ... ... (replace) the old shops. Our town *

........................................ (become) crowded and dirty. My family is now tired of the

endless noise and dust. We long for the gentle pace of life of the earlier days. However, Dad

'" (not talk) about moving to a quieter place yet. I hope

lewill think about it 50011.
(20 Marks)

J) Change the following Active Voice Sen tences into-Passive.

l+ We elected Balachandran as opr team leader.

! The gardener looks afier the flowers.

). Alex sent the package to Austria by train.
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(10 Marks)



3) Rearrange the following words to make meaningful sentences. Use capitals where

necessary.
L}

1. the/ sat/ front/ room/ in/ Sumudu.
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(10 Mark

4) Choose the most suitable words from the box and fill in the blanks in the passage.

indicators depression contrast policies ocecur

economists accompanied decline  activity recessions

Recession is a period of reduced economic activity. It is a business cycle contraction typici
characterized by @ ! oo in GDP (Gross Domestic Produ
Recession is generally 2 .....oooiiviimanee by a drop in the stock market,:
increase  in  unemployment, and a decline: in the housing market.
SR T S , depressionis a sustained, long-term downtum

economic & 1 one or more economies. A

scen By SOME © ..uiviviviamiinsmvmeisrnsremmnansanasstsnnes as part of the modern business cy
During recessions, many ACIOCCONOIIIC 7 coveneeneiaarsrnerae s aesinoaaes vary i
similar way. Recessions generally e A A e Y when there |

widespread drop in spending, often following an adverse supply shock or the bursting of
economic bubble. Governments usually respond 10 7 ...
by adopting expansionary macroeconommic 10 ... oiiciiiiiiiii s , sucl

increasing money supply, increasing government spending and decreasing taxation.
(10 Ma



5 Write a description to the following bar chart. Use around 150 words.
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® Sri Lanka:Inflation Rate
7.54%
6.91%5
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Year

Source: IMF Statistics, 2017



(10 Mar

6) Read the following passage and answer the questions

Tax is the most important source of public revenue. The imposition of tax leads to diver
of resources from the taxed to the non-taxed sector. Everyone knows that taxation
necessary in a modern state. Without it, it would be impossible to pay the soldiers:
policemen who protect us; nor the workers in government offices who look after our ha
our food, our water and all the other Lhingsdthat we cannbt do for ourselves. By means

taxation, we pay for things that are essential for our day to day life.

Though everyone knows that taxation is necessary, different people have different id
about how taxation should be arranged. Should each person have to pay a certain amoun
money to the government each year? Or should there be a tax on things that people buy:
sell? If the first kind of taxation is used, should everyone pay the same tax, whether she/h

rich or poor? If the second kind of tax is used, should everything be taxed equally?

In most countries, a direct tax on person, called an income tax is used. It is arranged in su
way that the poor people pay nothing and the percentage of tax grows greater as the
payer’s income grows. In some countries, for example, the tax on the rich people goes as!

as 90 or 95 per cent. Countries with direct taxation almost always have indirect taxation



Many things imported into the country are taxed. It is the people who buy these imported
Ihines have to pay the dut.ics in the form of heavy prices. In some countries, there is also a tax
on things produced in the country itself. If the most necessary things are taxed, a lot of money
is collected, but the poor people suffer the most. If unnecessary things such as luxury vehicles
and expensive jewellery are taxed, less money is collected, but the tax is fair because the rich
pay it. Through reducing inequalities in income and wealth by using an effective tax system,

government can encourage people to save and invest in productive sectors.

Probably this kind of indirect tax, together with a direct tax on income which is low for the
poor and high for the rich, is the best arrangement. Tax revenues may be used to encourage
development activities in the less development areas of the country where normal investors

are not willing to invest.

A, Write complete answers to the following questions.

. In what ways does the modern state utilize the collected tax?

(10 Marks)



B. Mark whether the following sentences are True (T) or False (F).

1. Government get income through taxation. ( )
2. People have no ideas about how taxation should be arranged. ()
3. Everyonc pay the same amount of tax. )
4. All things imported to the country are taxed. £
5. Tax on the rich people goes high according to their income. ()
(05 Mark

7) Write an essay using around 200 words on the topic “The main trends of globalizatio
and the connected risk”. Your essay should include the followings:

v" What globalization means
v/ Main trends of globalization
v" The positive and negative impacts of globalization

.............................................................................................................



..........................................................................................

(25 Marks)



